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Internal Assessment Test 3 – January 2022 

 

Sub: BIG DATA AND ANALYTICS Sub Code: 18CS72 Branch: ISE 

Date: 24/01/2022 Duration: 90 min’s Max Marks: 50 Sem / Sec: VII / A, B & C OBE 

Answer any FIVE FULL Questions 
 

MARKS 

 

CO 

 

RBT 

1  What is MapReduce and write the java program for Map phase and Reduce 

phase of Word Count Problem. 

Scheme: MapReduce + Program = 2 + 8 =10M 

Solution: 
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2  Explain in detail about Hive Architecture with neat diagram, data types and 

file formats of Hive. 

Scheme: Architecture + Data types + File Formats = 6 + 2 + 2 =10M 

Solution: 
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3   Explain Pig Latin Scripting Commands with example. 

Scheme: Commands = 10M 

Solution: 
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Write in detail about Regression Analysis. 

Scheme: Regression + types = 6 + 4 =10M 

Solution: 
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Simple Linear Regression: 

 

 

 

 

 

 

 

 

 

 

 

 

Multiple Regressions: 

 

 

 

 

 

 

 

 

 

 

 
 

 



 

5  For the following table describe the different steps of forming Association 

rule using Apriori algorithm. 

Scheme: Apriori Algorithm + Association Rule = 6 + 2 =10M 

Solution: 

 

S. No TRANSACTION LIST 

1 MILK EGG BREAD BUTTER 

2 MILK BUTTER EGG KETCHUP 

3 BREAD BUTTER KETCHUP  

4 MILK BREAD BUTTER  

5 BREAD BUTTER COOKIES  

6 MILK BREAD BUTTER COOKIES 

7 MILK COOKIES   

8 MILK BREAD BUTTER  

9 BREAD BUTTER EGG COOKIES 

10 MILK BUTTER BREAD  

11 MILK BREAD BUTTER  

12 MILK BREAD COOKIES KETCHUP 
 

Consider Support Count: 4 

 

S. No List Support 

1 MILK 9 

2 EGG 3 

3 BREAD 10 

4 BUTTER 10 

5 KETCHUP 3 

6 COOKIES 5 

 

After pruning itemset those who have less than support count value: 

 

 

S. No List Support 

1 MILK 9 

2 BREAD 10 

3 BUTTER 10 

4 COOKIES 5 

 

Join step to form candidate 2 itemset: 

S. No List Support 

1 Milk, EGG 2 

2 MILK, BREAD 7 

3 MILK, BUTTER 7 
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4 Milk, KETCHUP 2 

5 Milk, COOKIES 2 

6 EGG, BREAD 2 

7 EGG, BUTTER 3 

8 EGG, KETCHUP 1 

9 EGG, COOKIES 0 

10 BREAD, BUTTER 9 

11 BREAD, KETCHUP 1 

12 BREAD, COOKIES 2 

13 BUTTER, KETCHUP 2 

14 BUTTER, COOKIES 3 

15 KETCHUP, COOKIES 1 

 

After pruning itemset those who have less than support count value: 

 

S. No List Support 

1 MILK, BREAD 7 

2 MILK, BUTTER 7 

3 BREAD, BUTTER 9 

Join step to form candidate 3 itemset: 

 

S. No List Support 

1 MILK, BREAD, BUTTER 6 

 

Final selected frequent itemset is {MILK, BREAD, BUTTER} 

 

{MILK,BREAD}->{BUTTER} = support(Milk, BREAD, BUTTER) / 

support(MILK,BREAD) = 6/7*100=86%  

 

{MILK, BUTTER}->{BREAD} = support(Milk, BREAD, BUTTER) / 

support(MILK,BUTTER} = 6/7*100 = 86% 
 

{BREAD, BUTTER}->{MILK} = support(Milk, BREAD, BUTTER) / 

support(BREAD,BUTTER} = 6/9*100 = 67% 

 

{MILK}->{BREAD,BUTTER} = support(Milk, BREAD, BUTTER) / support(MILK) 

= 6/9*100=67%  

 

{BREAD}->{MILK,BUTTER} = support(Milk, BREAD, BUTTER) / 

support(BREAD) = 6/10*100=60%  

 

{BUTTER}->{MILK,BREAD} = support(Milk, BREAD, BUTTER) / 

support(BUTTER) = 6/10*100=60%  

 

 



 

6 Write short note on Text Mining and explain in detail Process Phases of Text 

Mining. 

Scheme: Phases + Diagram = 7 + 3 =10M 

Solution: 

 

Text Mining is the process of deriving high quality information from text. 
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